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CKM-H

Answers to questions are to be given only in English Language except iii the case of
candidates who have opted for Hindi Medium. If a candidate who has riot opted for

Hindi Medium answers in Hindi, his/her answers in Hindi will not be valued.
Question No. 1 is compulsory.
Answer any tive questions out of the remaining six questions.

In case, any candidate answers extra question(s)/sub-question(s) over and above the
required number, then only the requisite number of questions first answered in the answer

book shall be valued and subsequent extra question(s) answered shall be ignored.

Working notes should form part of the answer.

Marks
: 4x5
. Answer the following : =20
(a) A skilled worker is paid a guaranteed wage rate of ¥ 150.00 per hour.
The standard time allowed for a job is 50 hours. He gets an effective
hourly rate of wages of ¥ 180.00 under Rowan: Incentive Plan due to
saving in time. For the same saving in time, calculate the hourly rate of

wages he will get, if he is placed under Halsey Premium Scheme

(50%).
CKM-H ' P.T.O.
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(b) Premier Construction Company undertook a contract for .5,00,000 on
I August, 2016. On 31 March, 2017 when the accounts were closed,
, the following information was available : i | .
Cost of work uncertified ‘ T 1,20,000
Cash received : % 2,50,000 (80% of work certified)
Profit transferred to costing Profit
and Loss account at the end of the year on
‘Incomplete contract % 80,000
Calculate :
1) The value of work in progress certified
(i) Degree of completion of contract : .
(iii) Notional Profit and

(iv) Cost of contract as on 31-03-2017

(c) Mr.B 'vyil'l require % 30 lakhs after 10 years from now. He wants to
ascertain an amount to be invested in a fund which pays interest @

10% per annum;

Following options are available to him :

(i) tomake annual payment into the fund at the end of each year. -
(i) to i.nvest a lumpsum amount in the fund at the end of the year.
(iii) to make annual payment into the fund in the beginning. of each

year,

CKM-H
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Find out the amount to be invested under each of the options given

above.

Factors are as under :

FVIF/CVF (10%, 10) = 2.594
FVIFA/CVFA (10%, 10) = 15.937
PVIF/PVF (10%, 10) = 0.386

PVIFA/PVFA (10%, 10) = 6.145

(d) The X Ltd. is willing to raise funds for its new project which requires

an investment of ¥ 84 lakhs. The company has two options :
OptionI : To issue Equity Shares (% 10 each) only

Option Il : To avail term loan at an interest rate of 12%. But in this
case, as insisted by the financing agencies, the company will have to

maintain a debt equity proportion of 2 : 1.
The corporate tax rate is 30%. .

Find out the point of indifference for the project.

i _ CKM-H : iy P.T.O.
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2. (a) A Ltd. produces ‘M’ as a main product and gets two by products — ‘P’ 8

and ‘Q’ in the course of processing.

Following information are available for the month of October

2017 :
M P Q
Cost after separation = T 60,000 | ¥ 30,000
No. of units produced 4500 2500 1500
Selling price (per unit) T170 [T 8Q T 50
Estimated Net profit to sales | — 30% 25%

The joint cost of manufacture upto separation point amounts to

¥ 2,50,000.

Selling expenses amounting to ¥ 85,000 are to be apportioned to the

three products in the ratio of sales units.
There is no opening and cl.osing stock.

Prepare the statement showing :

(i) Allocation of joint cost.

(i) Product wise over all profitability and

(iii) Advise the company regarding results if the by product ‘P’ is not

further processed and is sold at the point of separation at ¥ 60 per

unit without incurring selling expenses.

CKM-H
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(b) A firm can make investment in eitl‘le‘rlof the fo’llowing two projects. 8
The firm anticipa{es its cast of capital to be 10%. The pre-tax cash ;

flows of the projects for five years are as follows :

Year - 0 | 2 3 4 5

Project A (%) | (200000) | 35000 80000 | 90000 | 75000 | 20000

Project B (%) | (200000) 218000.[ 10000 | 10000 | 4000 | 3000

Ignore Taxation.

An amount of T 35,000 will be spent on account of sales promotion in
-year 3 in case of Projéét A. This has not been taken into account in

calculation of pre-tax cash flows.

The discount factors are as under :

Year 0 1 2 3 4 5

PVF (10%) 1 0.91 0.83 |.0.75 | 0.68 | 0.62

You are required to calculate for each project, .
(i) The payback period

(i) The discounteld payback petiod

(iii) Desirability factor

(iv) Net Present Value

CKM-H P.T.O.
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(a) XYZ Limited produces an article and uses a mixture of material X and
Y. The standard quantity and price of materials for one unit of output

is as under :
Ma_terial Quantity Price (%)
X 2000kg ' 1.00 per kg
Yi 800 kg 1.50 per kg

- During a period, 1500 units were produced. The actual consumption of

materials and prices are given below -

Material Quantity Price (%)
X 31,00,000 kg 1.10 per kg
Y 12,50,000 kg 1.60 per kg
Calculate :

(1)  Standard cost for actual output
(i) Material cost variance
(iii) Material Price variance

(iv) Material usage variance

CKM-H
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The current credit sales of%i firm is T 15 lakhs and the firni still has an

unutilized capacity. In order to boost its sales, the firm is willing to

* relax-its credit policy. =

The firm proposes a new credit policy of 2/10 net 60 days as
against the present policy of 1/10 net ‘45 days. The firm expects an
increase in the sales by 12%. However, it is also expected that bad

debts will go upto 2% of sales from 1.5%.

The contribution to sales ratio of the firm is 28%. The firm’s tax

rate is 30% and firm requires an after tax return of I 5% on its

- investment.

Should the firm change the credit policy ?

A company, with 90% Capacity utilization, is manufacturing a product

and makes a sale of ¥ 9,45,000 at ¥ 30 pef unit. The cost data is as

under =
Materials T 9.00 per unit
Labour T 7.00 per unit

Semi variable cost
(including variable cost of X 4.25 per unit) ¥ 2.,10,000

Fixed cost'is ¥ 94.500 upto. 90% level of output (capacity). Beyond

this, an additiénal amount of T 15,000 will be incurred.

=

o 8 ' CKM-H
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You are required to calculate :
(i) Level of output at break-even point
(i) Number Qf units to be sold tc earn a net income of 10% of sales

(iii) Level of output needed to earn a profit of ¥ 1,41,375

(-B) The_ following details of a company for the year ended 31t March, 8

2017 are given below :

Operating leverage 251
Combined leverage 2.5:1

Fixed Cost excluding interest T 3.4 lakhs
Sales | . % 50 lakhs
8% Debenltl;res_ of T 100 each 7 30:25 lakhs,
Equity Share Capital of ¥ 10 each T 34 lakhs
Income Tax Rate . 30%
Required :

(i) - Calculate Financial Leverage

(ii)' Calculate P/V ratio and Earning per Share (EPS)

CKM-H
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(iii) If the comp'my belongs to an industry, whose assets turnover is

1.5, does it have a high or low assets tumover 2

(.iv) At what level of ;ales, the Earning before Tax (EBT) of the

-

company will be equal to-zero ?

Identify the methods of costing where : 4x4

=16

(i) all costs are directly charged to a specific job.
(i) all costs are directly charged to a group of products.

(iii) the nature of the product is complex and method cannot be

ascertained.
(iv) cost is ascertained for a single product.

What are the motivational factors for adopting a recongciliation

process ? Explain.

What is ‘Bill discounting” ? How does it differ from ‘Factoring’ ?

Explain.

Which method of comparing a number of investment proposals is most
suited if each proposal involves different amount of cash inflows ?

Explain and state its limitations.

CKM-H ! P.T.O.
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APP Limited is' a xﬁa-nufacturing concern and recovers overheads at a
pre-determined rate of ¥ 30 per man-day.

The following additional information of a period are also available for

you :
Total factory overheads incurred %51,00,000
Man-days actually worked 1,50,000
Sales (in units) 50,000
Stock at the end of the period :
Completed units , 5,000
Incompleted units (50% completed) 10,000

There was no opening stock of finished goods and works in progress.
On analyzing the situation, it was discovered that 60% of the
unabsorbed overheads were due to defective planning and balance
were attributable to increase in overhead costs.

How would you treat unabsorbed overheads in cost accounts ?

XY Ltd. provides the following information for the year endiﬁg 31
March, 2017 :

Equity Share Capital ¥ 8,00,000
Closing Stock < 1,50,000
Stock Turnover Ratio 5 times
Gross profit ratio 20%

Net profit/Sales : 16%

Net profit/Capital 25%

You are required to prepare : _
Trading and Profit & Loss Account for the-yeaf ending 31% March,
2017.

© The Institute of Chartered Accountants of India
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7. Answer any four of the following :

(a) _Disfihguis,h betwee_n ‘Bin Card’ and ‘Stores Ledger’.

(b) Explain ‘Retention Money’ and ‘Progress payment’ in contract.

(é) Explain :
(i) Flexible Budget

(i) Operating lease

(d) Explain ‘Concentration Banking’ and ‘Lock Box System’.

(e) Explain ‘Fina‘ng:e Function’.

© The Institute of Chartered Accountants of India
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(Hindi Version)

S ekt it Brewt R e Trem 91 8, T % ST haet WS A B A # |
v el e Feh e g 2, 2 et B e 2 2, o s ey o

| IR T HeATH T B |

Y G | AfEE 2 |
A ©: T3 A forgl i weEl & ITW AN |

fe w18 wenel frf ven & s 99 (It / TR (A o s Wi 6 3T
1% 1 v e 3 R e S gfe 6 v o f e, e i

R ST AT TR S/ oh STt <ht e T fem SR |

) %1 fewfort (Working Notes) 31 & I T‘;-;ﬁ ?IT%Q', |

Marks

I, Fmfean % s A bs

(a) T I A B 2 150 T Hver g Y MO Heel H A
T ST R | T SIS % A Wl Hieh T 50 B9 § | 98 (HfHeR) |
et JTUTTET ASTAT, TH § s o 10T 180 %t Horgl)
YU € T ITH HEAT B | T o geft s b for gl i wven e
o B AR 38 (afi Hhyered it A (50%) % Srd

@I AT g |
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(b) St e SRR T 1 3, 2016 Y TH 3T T 5,00,000 T
o 1 31 9, 2017@@@@@@@,%@6@@@:

STIHTTOTG < <l AIFT % 1,20,000

Uehg T %2,50,000 (SRR 7 <61 80%)
o & 37 ° a:t@f%%?qtamgrﬁ

wm i gt o % 80,000

U SHISTT - |

(i) T =Te HE A
(if) S % YUTaT hl BT

(iii) WﬁH(Notional)m,am
(iv) 31-03-2017 i 3% T EFId

(©) Mr.B @ 39§ 10 T4 % &G T 30 TG i TETIHAT Bt | I8 Th
@aﬁﬂ,sﬁlo%mﬁmaﬁaﬁmmwma,ﬁﬁﬁﬁm
3 ST Tl SRR <Rt G ST =TEd @ |

() W aW % 33 HIY H S YA B,
(i) a9 % 30 & I A HRA gty fafifa e,

CKM-H P.T.O.
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(i) TR I o IO & IS IR A ST,

s 2 T s P 3 s R T e
SRR <l T hITTY |

el (Factors) frerea &

FVIF/CVF (10%, 10) =2.594

EVIFA/CVFA (10%, 10) = 15.937

PVIF/PVF (10%, 10) = 0.386

PVIFA/PVFA (10%, 10) = 6.145

(d) X fafies ot = iGESHT (prOJect), ﬁl’&lﬁ T 84 @ bl ﬁlﬁ?hﬂ
e, SR PTTHFA R TGHE

et % T o freea €

REeq]  Pae gual I (3 10W)mﬁ1ﬁml

frpeqll 12% I SIW o TR HEf R W6 B | WG
foufe o, forcfier TEUMT (agencies): F g Sk fe 9
3 T, FHE Y ST H-GHA S 2: 1 T
TG I | |

A 30% 2 |

wm%mm%ﬁgﬁmaﬁml

CKM-H
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F AT & SN P’ A *Q” ITH HLdt § |

HTE ey, 2017 % ferq frm gemmd Suere € -
M P Q
YRrhIehTUT & I9U AN — 160,000 | % 30,000
| Iaqifed STl < g 4500 2500 1500
fosna qowr (fa 51) 2170 | T80 Z50
fersra St @™ — 30% 25%

qerber fiig o Fmion 1 &3 @ 2 2,50,000 ® | fosht =
X 85,000 1 &t <t Ieaa  farshia gl o SruTa d wien SR |

F13 ot yfRe 9 3ifaw wirnaEi 2 |

foraror dam Hifs

(i) G TA o fererer i TER HLd TE,

(i) ICUTE: TTWETIhAT i TG Hid g¢ AUl

(i) af 39 I P’ BT HM EEHRE AL feran ST B 3R 38 fa
firsrar = o) qerehienTon faig W 7 60 Wt 39S <h1 X & st ST
2 A Fe @ ol % ey ¥ wers A |
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(b) e TET Q) URESHISA ‘A 3T ‘B’ 19 L gehdl B | TEAT 10% 8

et T e e & 1 5 3 fore et 3 - A

% 0 1 2 3 4 5

TRERET A @ 3 | (200000) | 35000 | 80000 | 90000 | 75000 | 20000

qﬁzﬁm‘[B(tﬁ) (200000) | 218000 | 10000 10000 | 4000 | 3000

HUYH I A HITT |

g ‘A’ H Eed A R 35,000 1 eI e o F forsha e 2
= i R |m{q‘ﬁm‘sma‘ﬁmﬂ1mmsﬁmﬁﬁq—£f
@R | |

Ergraﬁmﬁi‘:'

9 0 1 g 3 4 5

PVF (10%) ] 091 | 083 | 0.75 | 0.68 0.62J

STy TR 3 FoT AT oM ST € -
() giTar st A

(i) EnTa g e 6

(i) STS-raT 7 6l

(iv) T[E IHH g3 h

CKM-H
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3. (1) Xvz Rl o a5 1 Scaed el @ aen et X R Y T 8
ﬁmmﬁﬁmﬁ%lwzﬁ@mﬁ%mmﬁmw

3 e e 2
qrft HET AR
X  2000kg 1.00 wife e,
Y 800 kg 1.50 Sifer fepamt.
T a3 1500 FH1SA hT Seare R T |
|l A ™R
X 31,00,000 kg 1.10 3fq fepum.
Y 12,50,000kg  1.60 Wi fer.
O HIY

(i) ST IeATeH i HTeh AT
(ii) | arfi e fereoms
(iii) ameft oo T
Giv) St s ferrrs

CKM-H P.T.O.
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(b) @é@n,ﬁaﬁmm_ﬁfﬁ? 15 A B e e % U It ot

s e | Fgh ) Hafd e % e f, e o v i
RIRHFA R TG |

et S aT@ AR 1/10 I 45 F % T R @wE i 2/10
3@ 60 &7 1 e it 2 | e forshl 7 12% <1 gfg T
i 2 | ey g 3 T & R v s s 3 1.5% & wo
2% T B SRR | B '

ey 1 e TRl STIAT 28% 2 | e Y FUG 30% & S TR
fFEiT o AT 15% =61 TeIra Y 1T Tt |
o e % G i afafda el =R 7

4. (a) THHEHE, 90%ﬁuﬁw%w,@a@wﬁﬁwm@%w
2 30 S ST W 2 9,45,000 i T A | SrTa e, e

a8

gt ' | 2 9.00 9fer 518
L Z 7.00 9f 513
32 - AT |

( 4.25%@%%@%%_

aciw) % 2,10,000

CKM-H
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el ST, 90% ScUTEH o &iT (&HdT) b I 94,500 & | &k W S

T T 15,000 T ffen g =R wE o |

TR U A S ST ¢

() wu-ferRy fiig W Ieed TR H,

i) RER R 10% TE ST S FO % e feshid 1 S el
ToRTEA! <h T 1 |

(iii) 2 1,41,375%wﬁaﬁa$@%mmmwﬁl

31@,2017@%%@3&%@,@%@@& 8
frga & i E

LCIGERSIEIE) it
fufda sftee sl RSN |
TR SR (ST BIghT) Iy
[EE] - - 50T
8% 0TS T 100 Ih ~ 302599
AT I Y T 10 T - %349@
FTIHT &L — 30%
CKM-H P.T.O.
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Ifara % :

(i) forchar =fiers < TTorT <hifT |
(i) EH-HET agtn?r (P/V Ratio) T Sfel 3731 317 Y 7197 HIfT |

(i) afe et Tk U8 Fe & Heiftra @ it aeaft S AT
1.5 2, d 30 I %1 gEIi Yoarade U A 8 AU

$H 7

(iv) Forsea 3 Fpe v R e < HT g 31T Y o e gt ?

5. (a) wTd o ferftrt <t weEm I : Axd
() e et T e 9 @ e T Site o i i € |
(i) e ot T e €9 8 T SeuIg o HHg W I <l el € |

(i-ii) &l 3G hl 9?% Ffes (complex) ? 3 Y ﬁﬁﬁ"ﬂﬁ 8 ol
Sk

(iv) ST&t o e ae % fore Ferife <6t St 2 |
(b) FETET S 1 ST T 3 o S e B @ 7 e |

'‘CKM-H
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(c) farer fewmrsfoem (Bill discounting) 1 ] There {1 (Factpring)

3 forg R R @ ¢ T |

(d) %&aﬁwﬁﬁﬁﬁﬂm@,w&mw%mm‘

m—mﬁ,ﬁw%mﬁjmﬁfﬁmwﬁ?ﬁ%?
e qu saeht dai %1 Iee HINT | |

6. (a) App%ﬁ%@:@ﬁnﬁﬁw%aﬁ(mﬁwﬁﬁ? 30 fe agsa fea R

e Frethe & ot st e R |
e araty 6 Fre gEad oft STt Suere € -
ot R T HrE e ¥51,00,000 '
%1 % areferes 93 T 1.50.000
e (1Al ®) 50,000
atafer % 3ia & @i : |
qui STl 5,000
et 3hTEAT (50% I00) 10,000

mmaﬁa@mmﬁém@ﬁwﬁmrﬁﬁml

oy 3 ergreeT ¢ g T T B TR Suhem # 60%
Sroget st 3 Teor o e 99 Iafr o § iy @ weted o |

St ST STl ) ST orgt i 31Ty RRe ST IT=Rd il ?
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© The Institute of Chartered Accountants of India

Marks

P.T.O.

. s




(22)

CKM-H Marks
(b) 31 9 2017 B GHIH B 9 99 % e Xy e fefafea 8
AT I HUA 2 :
HAT 39 YSit ¥ 8,00,000
Jifem wfern % 1,50,000

Hehe! AN TG 20%
s omi/fesra 16%
g 25%

HITH 31 AT, 2017 H GHH B4 o1l 99 % fT =R @ sm-gi
WA AR & 6t 3re 6 STt R

7. et 3 & R S TeR AR

4%4
=16

(@) ‘fAHTE (Bin Card) 3 L AT (Stores Ledger) & 3iat HIRT |

(b) 3% o Qe = ule (Retention Money) 9T “gurfer Hrarr (Pfogress
- payment) aﬁm'wsﬁ I

CKM-H
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(c) wHgmsd:
() il aee

(i) GIGETEd 981
(d) ARG T - aT ET ! T |

(e) For b ) wwsg |
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